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QUESTION 1
Scenario: An administrator is configuring a NetScaler for a network environment where the back- end servers are
located on different subnets. The administrator will need to configure the NetScaler to communicate with the different

subnets.

Which two steps should the administrator take to maintain the communication between the NetScaler and the back-end
servers? (Choose two.)

A. Enable USIP mode.

B. Enable Path MTU Discovery.

C. Ensure USNIP mode is enabled.

D. Configure SNIPs for the server subnets.

Correct Answer: CD

QUESTION 2

An administrator set up a NetScaler pair in HA but later noticed that the configuration changes made on the primary
node were NOT synchronized with the secondary node.

Which configuration setting must be corrected for successful configuration synchronization between both nodes in HA
mode?

A. HA monitoring on interfaces is set to off.

B. HA monitoring on the node IDs is set to off.

C. nsroot password is not identical for both nodes.

D. RPC node password is not identical for both nodes.

Correct Answer: D

QUESTION 3

Which IP address type must be unique to each NetScaler in an HA pair?
A. MIP

B. NSIP

C. SNIP

D. Load balancing VIP

Correct Answer: B
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QUESTION 4

Scenario: An administrator finished installing a NetScaler appliance and configured a load balancing virtual server that
has four services bound. The configured load balancing method for the virtual server is set to use least connection. The
administrator later added a fifth server to the virtual server. However, when testing load balancing, the administrator
finds that the virtual server is using round robin instead of least connection.

Why would the NetScaler system be using round robin as the load balancing method instead of least connection?

A. The administrator did not save the configuration correctly.

B. The NetScaler is using slow start mode for the virtual server.

C. Least connection will only function when more than five servers are load balanced.

D. Least connection is not a load balancing method that can be used for Web servers.

Correct Answer: B

QUESTION 5

Scenario: A customer has an HA pair configured and is making interface configuration changes on the primary node.
However, the administrator notices that the changes are NOT being propagated to the secondary node.

What is the reason for this behavior?

A. Propagation is not enabled.

B. HA pair licensing is missing.

C. Propagation is enabled, but synchronization is disabled.

D. Interface configuration changes must be performed on each node.

Correct Answer: D
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